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Find the slope and y-intercept of the line represented by each of the following equations.
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Write the equation of the line with given slope and y-intercept. Then graph each line using the slope and y-intercept.

16. Slope: _2; y-intercept: (0, 4)
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18. Slope: 5; y-intercept: (0, -2)
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20. Slope:
[image: image2.wmf];
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 y-intercept: (0, 8)
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In exercises 25 to 32, match the graph with one of the following equations.

(a) y= 2x  (b) y= x + 1  (c) y= -x + 3   (d) y = 2x + 1

(e) y=-3x - 2   (f ) y=
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 + 1       (g) y=-
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      (h) y = -4x

26.
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28. In exercises 25 to 32, match the graph with one of the following equations.

(a) y= 2x  (b) y= x + 1  (c) y= -x + 3   (d) y = 2x + 1

(e) y=-3x - 2   (f ) y=
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3

2

 + 1       (g) y=-
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      (h) y = -4x
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In exercises 25 to 32, match the graph with one of the following equations.

(a) y= 2x  (b) y= x + 1  (c) y= -x + 3   (d) y = 2x + 1

(e) y=-3x - 2   (f ) y=
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 + 1       (g) y=-
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      (h) y = -4x

30.
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In exercises 25 to 32, match the graph with one of the following equations.

(a) y= 2x  (b) y= x + 1  (c) y= -x + 3   (d) y = 2x + 1

(e) y=-3x - 2   (f ) y=
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 + 1       (g) y=-
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32.
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	+y
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	9
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	8
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	7
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	6
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	5
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	4
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	3
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	2
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	1
	
	
	
	
	
	
	
	
	
	
	

	
	-x
	
	-9
	-8
	-7
	-6
	-5
	-4
	-3
	-2
	-1
	0
	1
	2
	3
	4
	5
	6
	7
	8
	9
	
	+x

	
	
	
	
	
	
	
	
	
	
	
	
	-1
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	-2
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	-3
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	-4
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	-5
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	-6
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	-7
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	-8
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	-9
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	-y
	
	
	
	
	
	
	
	
	
	
	


_1243152885.unknown

_1243153162.unknown

_1243153226.unknown

_1243152800.unknown

